JEE MAIN (B.ARCH) AND NATA COACHING ARCHO (ARCHITECTURE CLASSES)

Part I / 99T 1
Mathematics / TTUTd

1. Let f:(1, o) = [1, ®») be defined by 1. AT 1 (L =) = [1, =) 58 ¥R sfoie v =
X+2 X+2 A
fix) = ~—= . Then flx)= 222
X - X=-]
(1) [ is onc-one and onto (1) f, S 9 IR 2

{2) f is one-one but not onto @ f 'z‘;«a‘l 3 e 2 = 7@ 3
(3) [ is not one-one but onto B ) £
(3) f, T 7 ¥ T A0S §
(4) [ isneither one-one nor onto ; %
(4 f AT vES L A4S IDEE ¢

2, Let A=((x,v):x>0, y>0, x2+y2: 1] and

letB={(x,y):x>0, y>0, xﬁ-oyGSl}. 2. g9 A=(x,y:x>0, y>0, x2+y2=13 a4t
Then ANB = T4 B=ilx,y):x>0, y>90, ¥yt g1l

1 A AMANB=

(2) B (1) A

(3) & {the empty sct) (2) B

(4) 10, 1), (1,0 (3) ¢ (7% Fq=9)

(4) (0, 1),(1,0)
Let 7 be a complex number such that [ Z | = 2.
Then the maximum  possible wvalue of

3 TFZTEERR TR W R B ERE|Z]=2

2 Bl :

o= = 2' . 3 =
pect o © 7+ = | i e A R
(1)
1 1 e 75
(2
2) 2 | ) 5
(3) 4 &
4y 4 4 4

) wor of « .'\.;c. !.‘.‘ 0 i o, D -~ ~. .
& The ’;‘;"“i’”;’ ";"m"""' e s 4. wIEO x4 |x|-2=0 FvE A @
X" - X|—2= 18

(L 1 e 3

(2) 2 (2) 2

(3) 3 (3) 3

4) 4 (4) 4
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1 1 0 1 1 0
5. Let A= |0 1 0|, and let 1 denote|5. ™Al A= |0 1 O |, @ 5F I, 3 x 3 %l
o o0 1| 10 0 1
LhC 3 x 3 id(‘nht)‘ matrx. Thcn 2A2 - 4At3 = TS 3‘"—(733 % | a} 2A2 s ."\J -
(1 A+l
(1) A+l
(2) A-1
(2) A-1
(3 1-A
(3) 1-A
4 A
(4) A
6. Let A =1a] bea 3 x 3 matrix whose _ o "
J - Ueh & -, 3‘“@3 f Jaa 4 l‘.!u'dv D1
determinant is 5. Then the determinant of the |8 A A= “'ij! W 3x3 L 2 5 |
matrix B = [2' Jaijl is @ T B={2‘“’anl & WO £
SR 1M 5
{2) 10 2 10
3, %0 (3) 20
(4) 40 @ 40
7. A school awarded 38 medals in football, 15 in . . £ A
> % faoreg 3 wdia & fav 38 fea, aeeaa & fay
basketball and 20 in cricket. Suppose these 7 b > ‘:’ el _'38 ; 2
medals went to a total of 58 students and only 15 a1 fFkT % fow 20 Hew@ faafa &Y | “W‘Sﬁ"
three students got medals in all three sports. If 58 fania 1 3% d3« {3 39 &9a e fofEE =
only 5 students got medals in football and 5 W % fav dzw a1 3l dAw 5 i @
basketball, then the number of medals received g.?eﬁél am T § A BR, A I il §
in exactly two of the th rts i A R RS
in exactly two of the three sports 1s o B A i @ g A el Ave R, &
v 7
(n 7
(2) ]
(2) 9
(3) 11
(3) 11
(4) 13
4y 13
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8. Let A be a set containing ten elements, Then the [8. WM ¥qwam A % 24 2/@ya 2 | A #5-4-&0 @0
number of subsets of A containing at least four

: HayEi amt A % 3TayerEl % e #
elements i1s ~

(1) 845 (1) 845
(2) 848 ‘ (2) 848
(3) 850 (3) 850
(4) 854 (4) 854
9. The remainder when 7'2° is divided by 10 is ;
9. afz 7'3 = 10 F ol fem o, @ 9w @M
(1) 1
(1) 1
(2) 3
(2) 3
3) 7
3) 7
(4) 9
4 9
10. The value of the sum
= 2 S 1 (8) 2
3 1 (8\ 10, W’{Z" "3 -l|ﬂmt{
2 STSRLL S (ofs 4 G+DG+2) \J)
4 (j+D(+2) i) gD
18 {1 1—2?
‘1) 1003 >
90
(2) 1(;;3
1013
) 2o
90
2
(3) 1?);)3
0 G '
a0
@ 108
(4} _19;'3
90
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11. Let f:[0, =) - [0, =) be given by 1. 3 10, w) - [0, ) W e 22 7 ¢ s
10 10
X ; : ‘ = <
flx) = 2 — . I '¢) denotes the derivative of fix) = 2 ‘ . T (), o) W sEwaw &, @
T
() | R | .
, f'{ix)~-10 . "x) -
f(+), then the value of lim LA I8 lim l_'_\x) 10 & ae 2
X 41 x -1 x -] X
(1 35 (1 35
(2) 40 (2] 40
(3) 45 (3) 45
(4y 556 (4) 55
12. The value of the sum 20
. e [1 1 1 1
20 r 1 12. qmMEH Z 1{= 4 + 4 b — *1
z |1 1 1 1 , i 41 i+2
U [ i 2 t o inl
i i+1 1+ 2 20 |
i=1 * 5 Ll
18
(1 100 (1) 100
(2) 105 (2) 106
@ 30 (3) 110
(4 115
(4) 115
13. The cquation 4x° + 5x' - 10x% - 20x + 40 = 0
has 13. TR 4x” + 5x% - 10x° - 20x + 40=0 ¥
(1) noreal root (1) %Y s e T §
2 3! . v e - <
(2) exactly one real root (2) e vE Sl T
(3) exactly three real roots 7 = . :
(3) Faea @13 apafas o ¢
(4) fve real roots !
(4) 9= wafaE e #
14, Let 1 (=o, o) = (—eo, @) be a continuous and
differentiable function and let {'(-) denote the |14. HF f: (-0 =) < (~00, o) U T T
denivative of fl-). If fi0)= -2 and f(x) <3, for NERTEE B 2 W TR (), R W OSESE R
each x ¢ [0, 2], then the largest possible value of 'fk fl0) =~ 2 M %% x ¢ [0,2] & £(x)<3,
fi2) is @ f12) W fysan g 59 ¢
1 1 (hH 1
(2) 2 (2) 2
(3)y 3 3 3
4) 4 4 4
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156, Let f 1, 2] =» (= e, @) be given by 15. S f:[-1,2] (-, 00) ¥& NE1 fZW T (LS
4 2
< x' 1 3x% 41 {(x)..x '?x ’1.
ix) = o x*+1
x+-41
® [-1, 2) | 0.) W sfesm dwa 5= &
Then the maximom possible value of fl-) on
1,2] is
' (1) 1
29
(2) -
I\.. 5
(2
5 21
(3) —
21 5
3 =
’ @ 2
iy 2 ’
(4
: : k : 16. FFN [:(—w, o) = (— o, ») T8 VR oo £ f5
Sl e e s ‘”'.m.n ? ﬂx)-xlxl*IX—ll'IX—Z['*fx-!!!".
= . ] Y o . : :
A i e o i ' o A 7 fegl & wywew @ zvim R wd )
Il A denotes the sel of points where R-) is not | szt R VA=
differentiable, then A = l (1) 13
i 3 by
(> : ‘ 2)
": ) )
3 10 ‘ (3) 10
H o2 ' @ [2
17. lot f1v) and gt+) be differentiable functions on 417- A f-) @ (), (= e, =) W speerd w3 €,
o) and let (<) and g'(«) denote Jcnv:nwcsl o .) AW @) BEE R.) A () & mead
, 1 1
of R} and gt+), respectively. If f0) = —, g(0) = —, ‘ 7
2 g g1l ﬂo\l"'l.g(O)n3,{'(0‘.}’3‘2'(0‘.:2
ff0l=1 ond g'10) =2, then the value of ' - 3
20(9x2 & ic
L 2M(2x% 4 3x) - ) | LA A B S
B e ' x-+0 Jgx) -1
X — JRix
% ‘ (0 1
1
; (2) -
> 2
1
o 3 =
) 3
] @
v Z 4
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18. The value of 1
1 18. J x?(1- x)? dx
I xz(l - X)g dx 0
0
15 F At
1 1
1) — —
610 (1) 810
| 1
(2) — =2
630 @ 630
1 1
(3) — i
640 (3) 640
1 1
(4) — S
660 4 660
19. Let y=fix) bea curve which passes through 2 2
(3, 1) and is such that normal at any point on it [19. 7 y = fix) 7% % 29 (3, 1A B I § AW W
passes through (1, 1). Then y = fix) describes e o® ¢ 5 o Rl fam wm osfea, fesg
(1) acircleofarcan (1,1)%@513131:!1'«\ y-ﬂx)wh-’b'(mi
(2) an cllipse of area 2x ) WHPEW nd
. (2) % 7 ondgn o o 8w 2x 2
(3) anellipse of area 3=
(3) W W dfyn B Fraw HIGT 3n 8
(4) acrcle of area 4n X ;
(4) UH IW g9 B o ST 4n
20. ﬁchma:lrlimum4vgluc :f I: ,+ y I where (x, y) lies 20. lx 4 Y| 5 sfesaw 5, W (x,y) m
t
S a+yt=q4 wiomg, ¢
2J5 (n E_S_
(1) — 5
5
20 J5 2 5
: J6
@ Yo ® =
b
4 3 (4 3
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21.  Two vertices of a triangle are (1, 1) and (3, 4), and [21. u® fiqa & @ i (1, 1) 7w (3, 4) § = dwn ¥,
the third vertex lies on the line y = x + 1. If the fec il y=x+1 W fixa g1 ufimfrgawmvﬂ ]
arca of this triangle is 1, then the third vertex of &, 7 foq = dwa i ¢
the triangle is

(1) 3,4
(1) 3,4 ) (4.5
(2) (4,5) 3) (5,6)
(3) (5,6 4 6,7
(4). (6,7)
22. WA adgE 4 + ¥ = 16 zW i T T wE
FATAAL 1 R A=
22, Let Abe ':he area of square circumscribed by the 61
ellipse 4x* + y* = 16. Then A= (n —=
v
@ T 62
e )
(2) 5]
(2) 6_3 63
5 @ =
5
63
(3)
5 4 -5}
)
@
5
- 23. A favEEn 16x* - 9y° = 144 ¥ @ B (x,, y,)
23. Ifthe line 4V17 x - 3y = 48 is a tangent to the \ - . e
R B 2 R
hyperbola 16x* - 9_\'2 = 144 at the point (x,, y,) R W41 x-3y=ds wi o g, o * Yo
on the hyperbola, then xg - yg = 167
(1) =
16
ay 167
16 168
; (2) Ty
(2) 158
16
. 169 @ 19
3) —
170
4) — 7
16 @ 2
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24, The shortest distance 't:-.r_:tween the circles 2d. QT.-TT © 4:3,—3 =1 (x = EI'}2 + (¥ = 12)° = 4 % Mg
Zryi=1and (x-9° +iy—12F=4 is e o &
1y 8
(1 9 &
2) 1
o
B s (3 12
3 12 (4) 14
(4) 14
25. Ta
25. The radius of the sphere =14 JE)ix=1=Z) 4
(x—1+2)(x=1-+2}+ (y=1+ Big-1-8)+
-1+ V3)G-1-4a)+ (z—1+ JBilz=1=5)=0
(z—1+ 5){a=1-45)=0
#it f=m &
Is
(1 2
(1) 2 —
B V2 ® B
(3) 5 10
4) 10 y
W e 26. U% frga ABC &, i A, B 79 C % W19 &9 307,
26. Ina triangle ABC, measures of angles A, B and C 105° @ 45° ¥ | T A ABC H 7% ﬁ:g O @
are 30°, 105* and 45°, respectively. If O is the 0A
, DA oo
orthocentre of triangle ABC, then o =
A ay =
(1) —
3 2
@ B @ 2
2
f,
i, J2
2 @ =
[3)
2 2
4) 42
4 2 @
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27. Let x, y and z beunitvectorssuchthat |[27. Wil X, ¥ @41 z TS WU W MR 2 &
X -Y P+|¥-Z P+|Z -% [*=0. |X -7 P+|¥ -7 P+]Z7-% |*=0.
Then|i>+)}’—_z‘)|2-—4§'.?= 't%l;z)i‘?-?[z—-*l?.?n
1) 2 1 2
3) 6 3 6

28. The value of .

am 4 3% 4 5m 4Tn 28. cos‘zt- +cos"§£ +oos‘£n— +cos47—ﬂ W‘ﬂﬁ?
C0S — + €08 — + €08 — + CO8 — 8 8 8
8 8 8 8
18 3
(1) =
M 2 E
2
1
2 =
@ 1 @ 3
2
, 3
1 1
: o (4 -
@ 2 ' ix
29. The value of sin inl . 51N :—: . 5in f—: is
29. asin-i.sing-’-t--.sin2 HA &
1 14 14 14
(1) —
4
1
(1) =
@ - 2
8 1
(2 =
1 8
3) —
< @ 21
2
L 1
i ek 4 —
16 16
AlPage 10 SPACE FOR ROUGH WORK / T% %4 % oty wrig

JEE MAIN (B.ARCH) AND NATA COACHING ARCHO (ARCHITECTURE CLASSES)




JEE MAIN (B.ARCH) AND NATA COACHING

ARCHO (ARCHITECTURE CLASSES)

30. Equation of a common tangent (if it exists) to 30. x*+ y' =2 3@ xsyz = 1 B Ivafie wyd T (ai
sy =2and X’y a1l is s sfara £) w1 wiee §
(1) x¢y-ﬁ (1) xey=+2
: =
(2) x+2yw2 @) x+2y
3) x+y=2
3) x+y=2 :
(4) xe2y= J2
(4) x+2y= V2
Ay : 5vT @8 31 | 35 7% W v 7 &%F-] aW §672
| S & vra RT 7w 97 Aeed 7 7 3w e
Directions Questions number 31-35 contain ;mnmmws;gm Y
Statement-1 and Statement-2. Of the four choices
given after the statements, choose the one that best
describes the two statements. S1. T f: (-, =) — (—e, ) fr grn sfonfir ¢
13. gfe x > 0
31. Lot [:(=es, =) (~ =, «)be defined by fix) = =
x3, if x>0 0, g xs0
fix) = .
0, fxs0 " WA (), f) ® e
and let (-) denote the derivative of f{+). FUA-] -
Statement-1 : lim f(x) = (0)
lim f(x) = f(0). x =0
x-0
Fifs
because
Statement-2 : FT7-2 -
f‘(x)'cxxm. fo; cach X € (=es, ), and f(x) is X x € (= o, w) & T F(x) W SERT R, 70 (i)
continuous at 0. W s
(1) Statement-1 is true, Statement-2 is true;
Statement-2 is a correct explanation of )
Statement-1 (1) =%-1 §% ¢, ¥63-2 79 ¢ E-2, $6-1 &
@i e #
(2) Statement-1 is true, Statement-2 is true; -
Statement-2 is nof a correct explanation of (2) 3;“'1 & b, -2 ¥ 8 o2, - R
Statement-1 3t o g7 @
(3) Statement-] is true, Statement-2 is false (3) ¥\l ¥R R, T2 W R
(4) Statement-1 is false, Statement-2 is true (4) w1 WEew ¢, sE-2 WG
A/Page 11 SPACE FOR ROUGH WORK / T% &1 & fere amg
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82. Let f:[11,e)—>(0,¢) be given by 82. WA £:[11, 0o} —» (0, o) TH WK fm 7wy 2 s
0 1, o
w11 5 w11
3 x -1 s x-1
{=1 Lot
n
w:em‘ for real numbers a,, a,, ..., &, il et Wl a,, gy .0, ¥ fau I‘[ a,
H a, denotes the product a, xa,x..xa, . =1
1=l a; X ap X...x a_ & THE & o 2 |
Statement-1 : FgF-] »
jﬂw)dx- i D nlx- ] 2 (=1 In]x 1|
cllls -1 (10-D! jﬁx)dx:E___'° -
fat e 0=l £4 W=Dt (10~}
because p
e
Statement-2 : 10 FHAD -
for x € [11, ), fix)= z —L.
b l ) X __, C 10 A
e xe[ll, =) & faw ﬂx)=z —L,
10 =~ x-l
where A= '] i 1=1,2,.,10, @
= :
,] — ___J____ — D)
= = A= H aop L= b0
(1) Statement-1 is true, Statement-2 is true; i
gtatemenbz is a correct explanation of (1) F99-1 99 ¢, 599-2 99 & T2, 41 0
tatement-1 P s
(2) Statement-1 is true, Statement-2 is true; i e 3, z
Statement-2 is nof a correct explanation of (2) T99-]1 T B, HUA-2 T &, HYH-2, F94-1 &
Statement-1 &5 =T T 8
1 i3e y > 3 X
@ Sutemenilis o Swmentdiofile | (5) v, e s
ot il ; bo; 7 (4) Fga-1 FAGA ¢, FF-2F9 2
. e directrix of a parabola is x + y = 2 and the . ,
focus is (\'{5 + 1, \6 + 1), 33. b o I ;ﬁ m x+y=2 3 = 'ﬂf‘-l
2 +1, V2 +1) 20
Statement-1 ;
Length of the latus rectum is 6. 1
because Y o e 68
Statement-2 ; wilf
The distance of directrix from focus is 3. A2 -
(1) Statement-1 is true, Statement-2 is true; fren A afs A gh 3
gt:ﬁ:f::-f is a correct explanation of (1) -1 79 2, 399-2 T4 &, F40-2, TF-1 B
(2) Statement-1 is true, Statement-2 is true; , 3 =T {i i
Statement-2 is not a correct explanation of (2) F47-1 ¥4 2, 399-2 A & F99-2, TFH-1 #
Statement-1 % = T4 R
(3) Statement-1 is false, Statement-2 is false (3) H97-1 HFE ¢, FH-2 WA 2
(4) Statement-1 is true, Statement-2 is false (4) FF9-1 99 T, TA3-2 59 ¢
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34.  An urn contauins four balls bearing numbers 1, 2, US FEAN § HEA 1, 2, 3 A9 123 I A€l a0 R
3 and 123, respectively, A ball is drawn at 21 4an ] e W Amgwwm frard v W E.
random from the urn. Let E, i = 1, 2, 3, denote ; 3 fx % ; Frerct o )
the event that digit i appears on the ball drawn, R LR SIARAE R T ¢
Statement-1 : 2 )

PE, N Ey = P(E, N Ey) = PE, N Ey) = : PRby gl BUEy 1 Bl INEy 63 Bt
-
because
T2 :
Statement-2 ; |
1 KE)) =PE) =PE) = —.
PE,) » PE,) = PE) = _ . Z
. 2

(1) Statement-1 is true, Statement-2 is true; (1) &% ¥3 ¢, -2 & 302, T @

Statemenl-2 15 a correct explanation of oz §

Statement-1 (2) F93-1 ¥ ¢, TME-2 79 & A-2, $03-1 €
(2)  Statement-1 is true, Statement-2 s true; % = mg

Statement-2 is nof a correct explanation of

Swatement-1 (3) @FWA-1 #EA 2, B2 7 &
(3)  Staement-1is [alse, Statement-2 is true (4) FTA-1 79§, F9-2 39 ¢
(4)  Staement-1is true, Statement-2 is false A {2 (o, 00) > (—co, o) FH¥EAR & (0) 7qA

36. lel f:(-o, o) » (~es o) bo such that f.) is W waa ¢ am uen r(?‘_t:v_) . x4 £Gy)

continuous at 0 and let . ! 2
(.‘(")’ f(x)“'(y] W x,yc(—n,m)*mi
r = . for every x, y € (-, o),
L2 . BYF] ;
= 4
Statement -1 : Re)y (= oo, co) & ¥AE g O we@ £ 4
R+} 18 continuous at every 'point on {= o, o), e
because
Staicment-2 : i
2fix + h) + 0) = 2 fix) + AZh), T X, h ¢ (-, =) F foq
for every x, h ¢ (-, ), 2fix + h) + fI0) = 2 fix) + ((2h).

(1)  Statement-1 is true, Statement-2 is true;

Sl.au:mcnt-2 15 a correet explanation of (1) %w1-1 5= ¢ X91-2 ¥4« a F73-2 BTUA-1 N

Statement-1 ' ' '

_ I = §

{2) Statement-1 15 true, Statement-2 is Lrue;

Statement-2 is not a correct explanation of (2) FT-1 §9 ¢, 399-2 9% ¢, %%5-2, vHR-1 R

Statement-]

¢ s = 7 ¢
(31  Stotement-1 is false, Statement-2 is true
{4} Statement-l s true, Statement-2 is false b L t' 2wt
(4) FUA-1 FQ ¢, $04-2 9F7 ¢
APage 13 SPACE FOR ROUGH WORK / T% &1 & fu wmg

JEE MAIN (B.ARCH) AND NATA COACHING

ARCHO (ARCHITECTURE CLASSES)




JEE MAIN (B.ARCH) AND NATA COACHING ARCHO (ARCHITECTURE CLASSES)

Part II / WTT 11
Aptitude Test / Hfsfa adtgor

Directions : (For Q. 36 to 40). 3-D problem figure shows the view of an object. Identify the correct top view
frem amongst the answer figures,

9T : (7. 36 V40 & forw) 13-D Fv7 STFT ¥ 0 a7 % {vq W Feamy v & 1 q9w 9 F0 799 IW AwFha A 4
YEANAT |

Problem Figure | 597 300 Answer Figures | 3 3&aar

36.

B ] =y
=i ] BN [

(1) (2) (3) )

A A4 44

S
S
. @ =ESs
%
u

37.

(1) (2) (3) (4)

o
Telele

-
(1) (2) (3) (4)

39.

40,
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Directions : (For Q. 41 to 45). 3-D problem figure shows the view of an object. Identify the correct front
view, from amongst the answer figures, looking in the direction of the arrow.

o : (7. 41 R 45 & fow) |1 3-D %7 3ala ¥ U aeq # w9 & fegrm 7 & | dk #1 e 9 dEd gu, 35 w6
qE {0 & IW SFE A 7w |
Problem Figure | 37 3T&lq Answer Figures | 3T @t

-
b (3) (4)

(1) {2)

] =l =
42. ] ]
& u

A~ (1) (2) (3) (4)

i 6 £ £
f=) Bt

43.

/ (2) (3)

“ AN
L ]
(1) (2) (3) (4)
.

&

A/Page 15 SPACE FOR ROUGH WORK / T% &Td & forg sy
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Directions : (For Q. 46 to 48). Identify the correct 3-D figure from amongst the answer figures, which has
the elevation, as given in the problem figure on the left,

%&%r : (% 46#48%'@!3)!&{13!’«3’%7.7?7%(3'#6??3!) sl & SR, Frmar s7g@ v ardt i & 7 A

STes st 5 1
Problem Figure | ¥¥9 313 Answer Figures | 30 3@taa
{/
= BN @ @ NS~
("n (4
“. = @ @ S @
{1) (2) (3) (4
- 8 S% @ e @
(1} (3) (4)

Directions : (For Q. 49). Identify the 3-D figure from the answer figures, which does not have the same
clevation, as given in the problem figure on the left, looking in the dircction of arrow,

Faer : (W, 49 & forR) 1 30 SrHfaa & @ 39 3D HHT B GAA, frwa d F AR 2ud §U wy@ 7w, andf i &
7 FvT SH § 7 e g o

Problem Figure | 577 3rF Answer Figures | 3w 3yatin
19 [:] ‘ \J @
~ ~ w
(2) (4) (4)

Directions : (For Q. 50). Problem figure shows top view of an object. Identify the correct elevation, from
amongst the answer figures.

vt : (%, soaﬂvrq);w«fmw-ma@wmmﬁ'@m"m(/mw¢!17a&¢#my3?mgwtw
vy |

Problem Figure | 5% 30l Answer Figures | 3T Safayl

. & \

(1 (2) (3) (4)

AlPage 16 SPACE FOR ROUGH WORK / T% &4 % fere wmg
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Directions : (For Q. 51). Which one of the answer figures will complete the sequence of the problem
figures ?

T : (%, 51 & Torg) | 3o sugadl ¥ § @lvd) syl F 59T STHTA F WA TN W IHTET (sequence) T & TTW 2

Problem Figures | 397 i&laal Answer Figures [ 3 37.‘?5‘-3'111'
M
51. I%Z\ 8]4 %'<7 QD E]'<7 L(_g]/_\_.], '~5<7‘ [%A
(1) (2) (3) {4)

Directions : (For Q. 52 to 54). 3-D problem figure, on opening up will look like which answer figure ?
e : (7. 62 % 54 & To1Q) 1 3-D 337 0gla & @ad W, $Ad), 30 Fta I a2

Problem Figure | 597 3@ Answer Figures | 30T 3nFaa
] = = ]
q:f — D] Eﬂ — (] AN - A
52. : ] BN ij - I_IJ UH LfJ
B = e i
(1) (2) (3) (4)
= E o [
SO ¢ i v B v S R e 2 A
= = = =
LJ
(1) (2) (3) (4)
B i = u
- = = -
(1) (2) (3) (4)

AlPage 17 SPACE FOR ROUGH WORK / T% &Td & foie wTg
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Directions : (For Q. 55 to 59). Find out the total number of surfaces of the object given below, in the

problem figures.

T : (9. 55 R 59 & forg) | 577 spatoat ¥ A2 & 7f awg F wow) ® Fo G W FA 1

Problem Figure | 573 ST&io

(1) 10
(2) 9
55.
(3) 8
(4) 5
(1) 20
(2) 21
56. (3) 22
(4) 23
(1) 20
(2) 17
57. @) =
(4) 19
(1) 20
(2) 22
58. (3) 24
(4) 18
(1) 13
(2) 14
e @ 15
(4) 16
AlPage 18 SPACE FOR ROUGH WORK / TG &1d & o wrmg
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Directions : (For Q. 60 to 62). One of the following answer figures is hidden in the problem figure, in the
same size and direction, Select the correct figure,

9 : (0. 60 762 & forw) 1 A7 & 7 T sl § @ ww spFy 5y A fon ¥ gA w9 F X7 G 4 w0 §7
2 | wdl sk @ YA |

Problem Figure | 5779 3y Answer Figures | 3w 3Ffaa
i W 7 { Q
(1) (2) 3) (4)

m-/\ > o P (

\U (1) (2) (3) ()

2 (3) (4)

Directions : (For Q. 63). Some figures are given in the problem figure. After assembling them, which figure
wil be formed, from amongst the answer figures ?

739 : (7. 63 & forg) | v 3wl ¥ g sngfrat & gF & 1 sl WEd W 3w wwhhat § F w9 @y @ awn 2

Problem Figure | 574 3W5fa Answer Figures | 3t JFaa
WA /N
QQD\@
63. [b( l i \) < ( "Q
(L) (2) (3) 4)
AlPage 19 SPACE FOR ROUGH WORK / T% & & fiu s
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Directions : (For Q. 64 and 65). How many total number of triangles are there in the problem [igure given
below ?

& : (U 64 72w 65 ¥ forw) | A gt 7 T s & el @ e guw faad 8 2
Problem Figure | 579 M;ﬁf

(1) 10
i (2) 14
&% o (3) 16
4 21
(1) 9
(2) 12
65.
3 13
N
{4) 15

Directions : (For Q. 66). How many total number of rectangles arc there in the problem figure given
below 7

31 : (7. 66 & forg) | 12 G 7 w7 gty ¥ syt 3t Fo dow feadt § 2
Problem Figure ! 577 30aa

(1) 14
(2) 16
66.
(3) 18
! ) —
{4) 20

Directions : (For Q. 67). How many total number of semi-circles are there in the problem figure given
below ¢

19 : (7. 67 & forg) 1 12 & 7 wyr sl & snfawl 9 g dow e @ 2

Problem Figure | 597 3atd

— (1) 10
e (2) 9
67.
\ \? / 3 8
\ (4) 7
e |
AlPage 20 SPACE EOR ROUGH WORK / T% & & fetu w8
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Directions : (For Q. 68 to 70). Which one of the answer figures is the correct mirror image of the given
problem figure about the axis XX ?

B2 : (7. 68 R 70 % fory) | I smaferd) F @ whvedt sty & 77 5w FT FXX 3wy § W Tyvi wiaraw & 2

Problem Figure | %7 30&d Answer Figures | 31 3giadl
X

68. /

(1 (2) (3) (4)

X
X
69 \ \
X o)) (2) (3) (4)
X
70.
‘ 4
. (D (2) (3) (4)
A/Page 21 SPACE FOR ROUGH WORK / 1% & & foe wrie
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71.  Which of the !’olléwm;: musicians is from an |71, Fefafgs § } S @ieer awqre @ goyfy
architectural background ? wa k7
(1)  Remo Fernandes (1 W w=td=
(2) Baba Sehgal (2) T T
(3) Bhappt Lahiri (3) wofi TR
(4) Apache Indian .
PREnS.nas (4) s e
72. Petronas Twin Towers arc located in >
72. WAm e e fem
(1) China i
() 99
(Z) Malaysia ) ‘
(2) wafya g
(31 South Africa
(3) haor s H
(4) India
(4) WA Rn
73. Which person is famous for the extensive
brickwork in Kerala ? 73. Wwra % 2 wd i fafava ¥ W w3 T AW =1
(1) Laun Baker ez ¢ ?
(2) Hafecz Contractor (1) @ T =
(3) Charles Correa (2) TWA W’,'”Z’
(4)  Achyvut Kanvinde (3) Wt Aftm
74. Whach city 15 based on sector planning ? 4} FEAS iR
(1) Patna 74. ®Em TR R @t @ sfm ¢ 2
(2) Chandigarh (1} Sz
(3) Kolkata (2) Wy
(4)  Pune (3) W
_ 4 ™
75. Natural shadowless light is available from which ’
direction ? . R
75. fen v W st v fea fom R avae f 2
(1) Soutl N
e (1) zhyor A
(2)  North-West 2y T-gfram R
13) East (3) ci-;j R
(4)  North (4) IM A
AlPage 22 SPACE FOR ROUGH WORK / TG &1 & ferg g
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76. Energy efficiency in buildings cannof be |76. ToRal i Fuf gy frfafiga 3 3 fedl ves A T o

achieved by one of the following : W T

(1) Insulated roof (1 frga-nd ow &

(2) Building orientation (2) AR e R

(3) Using glass on the western face (3) vl 5% W A W 59T s

(4) Using locally available materials (4) TIHR TRl W % yam 3

77. Delhi is getting ready to host which of the |77. R&H, 2010 i Frafefem fom 3@ worr & Farch

following events in 2010 ? FORITI T ?
(1) Asiad Games 2
1) UmEE a@d
(2) Olympics b
(3) Commonwealth Games (2) Hrafics da
4) SAAR L.
( C Games @ T A%
78. Which finish imparts a glossy look to walls ? 4) w&d|

(1) Plaster R
78. foFw ] @ A R SR e e 3 X 2
(2) Distemper

(1) S&a=x
(3) Oil Paint )
z ) fewRmym
(4) Lime wash @
(3) @
79. Pentagon is .
(1) the official residence of the Prime Minister @ ym
of England
{2) the official residence of the President of 79. Wrm ¢
the United States of America ; :
(1) 8 % yua 1 & g fam
(3) the headquarters of the Department of
Defence of Japan (2) & T afew % opufa W wwd fram
(4) the headquarters of the Department of
Defence of the United States of America (3) A& g fasre a0 &

80. Which one of the following is nof a renewable @ eI ¥ gt bl Lalh

energy source ? < 2
80. Freifafas % a8 o 39 = i a1 2 2
(1) Wind Power

(1) ag ufw
(2) Solar Power 2y ¥ ofs
(3) Foasil Fucls (3) drared b
{4) Tidal Waves .
(4) =R 9
A/Page 23 SPACE FOR ROUGH WORK / T% &1 & foru e
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81. Which city is known as ‘City of Canals’? 81, v WA W T ?
(1) London (1) #AR
(2) Rome (2 m#
(3) Venice (3 aFmw
(4) Barcelona (4) i
82. :;vu‘:ln;in ;s? the function of Victoria Terminus 82. Peew 2fiaw fafeen few wrd ?ﬂ s ol & 2
(1) Museum (1) e
(2) Palace @) W=
(3) Railway Station 3) W RM
(4)  Airport (4) waf 3@
83. Plaster of Paris is used for 83. @n 3% Wew & Ta e d
(1) Structural frame (1) w3 A
(2) False work over walls/ceiling (2) Fari/oal w firon =t i
(3) Flooring and roofing (@) wF o e i
(4) Load bearing walls @) SR e e Juwl &
U S 5 o S, et i P, e
(1) Steel a A
(2) Glass-wool @ WA
(3) Glass pieces (3 = ® ?3‘7%
(4) Stone chips (4) T E m
85. Which does not form part of Reinforced Cement 85. wafem Wiz 87 (RCC) & fasmr ¥ sbwlt o 727
Concrete ? ot a7
(1) Steel 1y &
(2) Cement ) dH=
(3) Sand 3 MW
{4) Lime (4)
AlPacn 24 enrnrc enn oalinu wnov | TR mrd & fiao o

JEE MAIN (B.ARCH) AND NATA COACHING

23

ARCHO (ARCHITECTURE CLASSES)



JEE MAIN (B.ARCH) AND NATA COACHING

ARCHO (ARCHITECTURE CLASSES)

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
. Part 1 has 35 1)bject1»c type ueshons of

" Mathematics consisting of 3" marks for each L

correct response. Part I (Aptitude Tebt,) has 50
objective type questions congisting of 3 marks for
each correct response. For ecach incorrect
response’in Part [ and Part 11, one mark will be
deducted from the total score. No deduction
from the total score, however, will be made if no
response is indicated for a question in the
Answer Sheet.
2. Handle the Test Booklet, Answer Sheet and

Drawing Sheet with care, as under no |2

circumstances (except for discrepancy in Test
Booklet Code and Answer Sheet Code), another
set will be provided.

3. The candidates are not allowed to do any rough
work or w ntmg work on the Answer Sheet. All 3
calculations/writing work are to be done on the
space provided for this purpose in the Test
Booklet itself, marked ‘Space for Rough Work’.
This space is given at the bottom of each page and
in 3 pages (Pages 25—27) at the end of the
booklet.

4. Each candidate must show on.demand higher

Admit Card to the Invigilator. 4.

Ne candidate, without special permission of the
Superintendent  or  Invigilator, should leave
higther seat.

On completion of the test, the candidates should

o

not leave the examination hall without handing 6.

over their Answer Sheet of Mathematics and
Aptitude Test — Part | & Il and Drawing Sheet of
Aptitude Test Part IIl to the Invigilator on
duty and sign the Attendance Sheet at the time of
handing over the same. Cases where a candidate
has not signed the Attendance Sheet the second
time will be déemed not have handed over these
documents and dealt with as an unfair means
case. The candidates are also required to put
their left hand THUMB impression in the
Ik;)at:e provided in the Attendance Sheet.

owever, the candidates are allowed to take away

with them the Test Booklet of Mathematics and 7.

Aptitude Test — Part I & 11,

=1

not allowed.

8. The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of

unfair means will be dealt with as per Rules and 9

Regulations of the Board.

9. No part of the Test Booklet, Answer Sheet and
Drawing Sheet shall be detached/folded or

defaced under any circumstances. 10, v gfeem, o 9y ud v v H @ m

10. The candidates will write the Test Booklet Number
as given in the Test Booklet, Answer Sheet and
Drawing Sheetin the Attendance Sheet also.

JEE MAIN (B.ARCH) AND NATA COACHING

. Gienfadl & 3a 9 W AN F ¢ i @ foad &

Use of Electronic/Manual Calculator, Pager etc. is 8

PrafeRea e o R 98 -
gﬂam%mmwﬁna%ssaqﬁqm%ﬁaﬁ
Yols Wi I & fAv 3 3% & | aw 1 (sfiast sigon)
i 50 awgie wvA & T e W IW % fou 3 o
& 19 1 S A 11 5w e 39T R AT we A
3 % v o e fer W | At T 01 d R W
F B¢ IO 7@ e o @, 9 5@ A H 3} o e
T/ &reT S |

i ofee, IR OT T g We | oAEEs e
®, Fits fpd i ol § (Few v g o
S W F AT § i # et B Few) TR0 v
g I9eey e HE A |

T FE B R AE 2 Wl e wd faaE W
&, i yftea § et s SRR T @ % fag
Eo mfmﬂfam% wammlmmm

o 1 ve it wdmer — W Il @ IR W@ uE
sl wlgor — 9 11 #t g Wiz 33 3R ufafa
U1 WA FEE AW F & gy € e e
oE | o A W T gen o 5 s vy of eEn
vz 7 wierg € fd arfem wma s # A A
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